Case 12-51502	Doc 4848	Filed 10/21/13	Entered 10/21/13 17:59:40	Main Document
		Pg	1 of 16	

IN THE UNITED STATES BANKRUPTCY COURT EASTERN DISTRICT OF MISSOURI EASTERN DIVISION

	Х	
	:	
In re	:	Chapter 11
	:	
PATRIOT COAL CORPORATION, et al.,	:	Case No. 12-51502
	:	
Debtors.	:	(Jointly Administered)
	:	
	Х	

SECOND MONTHLY STATEMENT OF FEES AND EXPENSES OF DUFF & PHELPS, LLC, VALUATION SERVICES PROVIDER FOR THE DEBTORS FOR THE PERIOD OF SEPTEMBER 1, 2013 THROUGH SEPTEMBER 30, 2013

Name of Applicant:	Duff & Phelps, LLC
Authorized to Provide Professional Services to:	Debtors
Date of Retention:	August 21, 2013 nunc pro tunc to July 11, 2013
Period for which Compensation and reimbursement is sought:	September 1, 2013 – September 30, 2013
Amount of compensation requested:	\$98,020.00
Amount of compensation held back:	\$19,604.00
80% of fees requested:	\$78,416.00
Amount of expense reimbursement requested:	\$ 1,984.76
Amount of payment sought:	\$80,400.76
This is the Applicant's Second Monthly Fee Statement	

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 2 of 16

FEE APPLICATION SUMMARY

Number	Date Filed	Period Covered	Fees Requested	Expenses Requested	Fees Paid	Expenses Paid
First Monthly Application 7/11/13 – 8/31/13 Docket No. 4675	9/20/13	7/11/13 - 8/31/13	\$262,335	\$9,472.93	\$262,335	\$9,472.93
Total			\$262,335	\$9,472.93	\$262,335	\$9,472.93

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 3 of 16

TIME SUMMARY BY PROFESSIONAL

Professional	Title	Rate	September Hours	Total Fees
Jeffrey Tyler Berryman	Analyst	\$235	24.40	\$5,734.00
Bryan Dunne	Sr. Associate	\$340	89.00	\$30,260.00
Jeffrey Fisher	Vice President	\$445	17.00	\$7,565.00
				,
Kayleigh Huang	Analyst	\$235	31.00	\$7,285.00
William Lane	Director	\$560	12.00	\$6,720.00
Edward Lee	Managing Director	\$620	10.50	\$6,510.00
Mark Miller	Managing Director	\$620	2.00	\$1,240.00
Nicholas Schwarzmiller	Sr. Associate	\$340	7.00	\$2,380.00
Benjamin Stull	Vice President	\$445	66.30	\$29,503.50
Elena Petrova Tinsay	Analyst	\$235	3.50	\$822.50
Total Hours			262.70	
Total Fees				\$98,020.00

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 4 of 16

EXPENSE SUMMARY

Category	Sept	Total
Airfare	\$0.00	\$0.00
Hotel	\$0.00	\$0.00
Business Meals	\$14.16	\$14.16
Miscellaneous	\$0.00	\$0.00
Parking/Transportation	\$0.00	\$0.00
Professional Services	\$1,970.60	\$1,970.60
Total	\$1,984.76	\$1,984.76

IN THE UNITED STATES BANKRUPTCY COURT EASTERN DISTRICT OF MISSOURI EASTERN DIVISION

	Х	
	:	
In re	:	Chapter 11
	:	
PATRIOT COAL CORPORATION, et al.,	:	Case No. 12-51502
	:	
Debtors.	:	(Jointly Administered)
	:	
	Х	

SECOND MONTHLY STATEMENT OF FEES AND EXPENSES OF DUFF & PHELPS, LLC, VALUATION SERVICES PROVIDER FOR THE DEBTORS FOR THE PERIOD OF SEPTEMBER 1, 2013 THROUGH SEPTEMBER 30, 2013

Duff & Phelps, LLC ("Duff & Phelps"), valuation services provider for Patriot Coal

Corporation and its debtor subsidiaries, as debtors and debtors-in-possession (collectively, the "Debtors"), submits this second statement (the "Monthly Statement") of fees and expenses for the period of September 1, 2013 through September 30, 2013 in accordance with the Order to Establish Procedures for Interim Monthly Compensation and Reimbursement of Expenses of Professionals, entered August 2, 2012 [Docket No. 262] (the "Interim Compensation Order").

A. Total Duff & Phelps fees and expenses for September 1, 2013 through September 30,

2013 (the "Second Monthly Period"):	
Total Fees for the Second Monthly Period:	\$98,020.00

- Total Expenses for the Second Monthly Period: \$ 1,984.76
- B. Payment now sought by this Monthly Statement:

Fees:	\$78,416.00 (80% of above fee total)
Expenses:	\$ 1,984.76
Total now sought:	\$80,400.76

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 6 of 16

 Attached as Exhibit A are the names, titles, hourly rates and a summary of hours charged for the professionals providing services for the period covered by this Monthly Statement.

2. Attached as **Exhibit B** are the time records for the professionals who provided services during the First Monthly Period.

 Attached as Exhibit C is a summary schedule of actual and necessary expenses incurred during the First Monthly Period.

4. Although every effort has been made to include all fees and expenses from the Second Monthly Period in this Monthly Statement, some fees and expenses from the Second Monthly Period might not be included in the Monthly Statement due to delays caused by accounting and processing procedures. Duff & Phelps reserves the right to seek such additional fees or expenses in subsequent fee applications.

Dated: San Francisco, California October 21, 2013 Respectfully submitted:

10

Edward Lee Managing Director DUFF & PHELPS, LLC 345 California Street, Suite 2100 San Francisco, CA 94104 (415) 693-5333 Valuation Services Provider for the Debtors Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 7 of 16

EXHIBIT A

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 8 of 16

Summary of Hours for Duff & Phelps, LLC, Valuation Services Providers for the Debtors For the Period of September 1, 2013 - September 30, 2013

Professional	Sept hrs	Rate	Total Billing Sept
Berryman	24.40	\$235.00	\$5,734.00
Dunne	89.00	\$340.00	\$30,260.00
Fisher	17.00	\$445.00	\$7,565.00
Huang	31.00	\$235.00	\$7,285.00
Lane	12.00	\$560.00	\$6,720.00
Lee	10.50	\$620.00	\$6,510.00
Miller	2.00	\$620.00	\$1,240.00
Schwarzmiller	7.00	\$340.00	\$2,380.00
Stull	66.30	\$445.00	\$29,503.50
Tinsay	3.50	\$235.00	\$822.50
	262.70		\$98,020.00

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 9 of 16

EXHIBIT B

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 10 of 16

Name	Position	Tran Date	Eng.	Activity	Activity Description	Contract Description H	lours
Dunne, Bryan	SENIOR ASSOCIATE	09/03/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	2.50
Huang, Kayleigh	ANALYST	09/03/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	6.00
Lee, Edward	MANAGING DIRECTOR	09/03/13	47268	47268-001-01	Review of models	Patriot Coal/Fresh Start 2013	0.50
Schwarzmiller, Nicholas L.	SENIOR ASSOCIATE	09/03/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	7.00
Stull, Benjamin	VICE PRESIDENT	09/03/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	4.00
Dunne, Bryan	SENIOR ASSOCIATE	09/04/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	2.50
Fisher, Jeffrey	VICE PRESIDENT	09/04/13	47268	47268-002-01	Discussion with Patriot re: update to maintenance listing	Patriot Coal/Fresh Start 2013 - Fixe	1.00
Lee, Edward	MANAGING DIRECTOR	09/04/13	47268	47268-001-01	Internal discussion on discounts	Patriot Coal/Fresh Start 2013	0.50
Stull, Benjamin	VICE PRESIDENT	09/04/13	47268	47268-001-01	Model review, research and discussions on liquidation discounts	Patriot Coal/Fresh Start 2013	4.00
Dunne, Bryan	SENIOR ASSOCIATE	09/05/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	4.50
Huang, Kayleigh	ANALYST	09/05/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	6.00
Stull, Benjamin	VICE PRESIDENT	09/05/13	47268	47268-001-01	1 hour conference call, modeling, answering questions	Patriot Coal/Fresh Start 2013	4.00
Berryman, Jeffrey(Tyler)	ANALYST	09/06/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	1.00
Dunne, Bryan	SENIOR ASSOCIATE	09/06/13	47268	47268-001-01	1.0 client call; 3.0 internal discussion	Patriot Coal/Fresh Start 2013	4.00
Fisher, Jeffrey	VICE PRESIDENT	09/06/13	47268	47268-002-01	Analysis and distribution of updated information	Patriot Coal/Fresh Start 2013 - Fixe	2.00
Stull, Benjamin	VICE PRESIDENT	09/06/13	47268	47268-001-01	1 hour conference call, Modeling, legal entity allocation changes	Patriot Coal/Fresh Start 2013	4.00
Berryman, Jeffrey(Tyler)	ANALYST	09/09/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	3.30
Dunne, Bryan	SENIOR ASSOCIATE	09/09/13	47268	47268-001-01	5.5 Modeling; 2.0 client call; 1.0 internal discussion	Patriot Coal/Fresh Start 2013	8.50
Lee, Edward	MANAGING DIRECTOR	09/09/13	47268	47268-001-01	Call with Patriot re discounts	Patriot Coal/Fresh Start 2013	0.50
Berryman, Jeffrey(Tyler)	ANALYST	09/10/13	47268	47268-001-01	Worked on report	Patriot Coal/Fresh Start 2013	6.50
Dunne, Bryan	SENIOR ASSOCIATE	09/10/13	47268	47268-001-01	1.0 Modeling; 2.0 report; .5 internal discussion	Patriot Coal/Fresh Start 2013	3.50
Berryman, Jeffrey(Tyler)	ANALYST	09/11/13	47268	47268-001-01	Worked on report	Patriot Coal/Fresh Start 2013	7.50
Dunne, Bryan	SENIOR ASSOCIATE	09/11/13	47268	47268-001-01	Report	Patriot Coal/Fresh Start 2013	4.50
Stull, Benjamin	VICE PRESIDENT	09/11/13	47268	47268-001-01	1 hour conference call, Modeling	Patriot Coal/Fresh Start 2013	2.00
Berryman, Jeffrey(Tyler)	ANALYST	09/12/13	47268	47268-001-01	Worked on report	Patriot Coal/Fresh Start 2013	3.50
Dunne, Bryan	SENIOR ASSOCIATE	09/12/13	47268	47268-001-01	2.0 report; .5 internal discussion	Patriot Coal/Fresh Start 2013	2.50
Lee, Edward	MANAGING DIRECTOR	09/12/13	47268	47268-001-01	Internal meeting to discuss status of analysis	Patriot Coal/Fresh Start 2013	0.50
Stull, Benjamin	VICE PRESIDENT	09/12/13	47268	47268-001-01	.5 hour conference call, internal discussion, administrative	Patriot Coal/Fresh Start 2013	2.00
Dunne, Bryan	SENIOR ASSOCIATE	09/13/13	47268	47268-001-01	2.0 client call; 2.5 internal discussion	Patriot Coal/Fresh Start 2013	4.50
Lee, Edward	MANAGING DIRECTOR	09/13/13	47268	47268-001-01	Internal meeting update to status	Patriot Coal/Fresh Start 2013	0.50
Stull, Benjamin	VICE PRESIDENT	09/13/13	47268	47268-001-01	Internal discussion	Patriot Coal/Fresh Start 2013	1.00
Dunne, Bryan	SENIOR ASSOCIATE	09/15/13	47268	47268-001-01	1.0 internal discussion	Patriot Coal/Fresh Start 2013	1.00
Dunne, Bryan	SENIOR ASSOCIATE	09/16/13	47268	47268-001-01	3 hours report	Patriot Coal/Fresh Start 2013	2.00
Huang, Kayleigh	ANALYST	09/16/13	47268	47268-001-01	1.5 Modeling; 1.5 report	Patriot Coal/Fresh Start 2013	3.00

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 11 of 16

Name	Position	Tran Date	Eng.	Activity	Activity Description	Contract Description	Hours
Stull, Benjamin	VICE PRESIDENT	09/16/13	47268	47268-001-01	.25 hours working on billing admin items25 hours working on preparation of narrative report for liquidation analysis. 1.5 hours updating model to reflect requested changes to cash flow models	Patriot Coal/Fresh Start 2013	2.00
Berryman, Jeffrey(Tyler)	ANALYST	09/17/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	0.50
Dunne, Bryan	SENIOR ASSOCIATE	09/17/13	47268	47268-001-01	3 hours modeling, 1.5 hour client call	Patriot Coal/Fresh Start 2013	4.50
Lane, William	DIRECTOR	09/17/13	47268	47268-003-01	1.0 analysis, .5 market research, .5 modeling	Patriot Coal/Fresh Start 2013 - Re	2.00
Lee, Edward	MANAGING DIRECTOR	09/17/13	47268	47268-001-01	call with Patriot to review analysis. 1 hr. 0.5 hr prep for call	Patriot Coal/Fresh Start 2013	2.00
Stull, Benjamin	VICE PRESIDENT	09/17/13	47268	47268-001-01	1.75 hours on conference call to discuss mineral interest liquidation values with Patriot5 hours reviewing Rocklick lease information at request of Katy Winkelmann 1 hour preparing and delivering updated draft exhibits prior to afternoon conference call.	Patriot Coal/Fresh Start 2013	3.30
Dunne, Bryan	SENIOR ASSOCIATE	09/18/13	47268	47268-001-01	modeling	Patriot Coal/Fresh Start 2013	4.50
Fisher, Jeffrey	VICE PRESIDENT	09/18/13	47268	47268-002-01	Liquidation Report - Verbiage and Summary Update	Patriot Coal/Fresh Start 2013 - Fix	4.00
Lane, William	DIRECTOR	09/18/13	47268	47268-003-01	1.0 analysis, .5 market research, .5 modeling	Patriot Coal/Fresh Start 2013 - Re	2.00
Stull, Benjamin	VICE PRESIDENT	09/18/13	47268	47268-001-01	.5 hours reviewing JV data and developing follow-up questions. 1.5 hours reviewing draft liquidation narrative75 hours administrative effort (preparing invoice)	Patriot Coal/Fresh Start 2013	2.80
Dunne, Bryan	SENIOR ASSOCIATE	09/19/13	47268	47268-001-01	2 hours modeling, 1 internal review discussions	Patriot Coal/Fresh Start 2013	3.50
Fisher, Jeffrey	VICE PRESIDENT	09/19/13	47268	47268-002-01	Liquidation Report - Verbiage and Summary Update	Patriot Coal/Fresh Start 2013 - Fix	. 2.00
Lane, William	DIRECTOR	09/19/13	47268	47268-003-01	1.0 analysis, 1.0 market research, 2.0 modeling	Patriot Coal/Fresh Start 2013 - Re	4.00
Lee, Edward	MANAGING DIRECTOR	09/19/13	47268	47268-001-01	Review of Patriot report	Patriot Coal/Fresh Start 2013	1.00
Stull, Benjamin	VICE PRESIDENT	09/19/13	47268	47268-001-01	.25 hours following up from prior day's conference call to verify correct information 1.4 hours reviewing narrative report1 hours organizing meeting for following Monday to discuss fixed asset discounts	Patriot Coal/Fresh Start 2013	1.80
Dunne, Bryan	SENIOR ASSOCIATE	09/20/13	47268	47268-001-01	5 hours modeling, 1 report	Patriot Coal/Fresh Start 2013	6.00
Fisher, Jeffrey	VICE PRESIDENT	09/20/13	47268	47268-002-01	Liquidation Report - Verbiage and Summary Update	Patriot Coal/Fresh Start 2013 - Fix	2.00
Lane, William	DIRECTOR	09/20/13	47268	47268-003-01	1.0 analysis, 1.0 market research, 1.0 reporting writing, 1.0 internal review	Patriot Coal/Fresh Start 2013 - Re	4.00
Lee, Edward	MANAGING DIRECTOR	09/20/13	47268	47268-001-01	Review of billing analysis	Patriot Coal/Fresh Start 2013	1.50
Miller, Mark	MANAGING DIRECTOR	09/20/13	47268	47268-002-01	1 hour reviewing updated analysis; .25 hours reviewing market inputs, and .75 hours reviewing report.	Patriot Coal/Fresh Start 2013 - Fix	2.00
Stull, Benjamin	VICE PRESIDENT	09/20/13	47268	47268-001-01	.75 hours preparing and sending the draft narrative 1 hour discussion with Patriot regarding JV valuation follow-up questions.	Patriot Coal/Fresh Start 2013	1.80
Dunne, Bryan	SENIOR ASSOCIATE	09/23/13	47268	47268-001-01	modeling	Patriot Coal/Fresh Start 2013	4.00
Fisher, Jeffrey	VICE PRESIDENT	09/23/13	47268	47268-002-01	Market research on auction values for equipment convertible to construction industry.	Patriot Coal/Fresh Start 2013 - Fix	2.00
Stull, Benjamin	VICE PRESIDENT	09/23/13	47268	47268-001-01	Patriot - conference call to discuss Fixed asset and inventory Liquidation discounts 1.25 Patriot - Follow-up call with Patriot to discuss Liquidation discounts 0.25 Patriot - Internal discussion regarding treatment of Joint Ventures 0.5 Patriot - Answering Questions related to Real Estate 0.25	Patriot Coal/Fresh Start 2013	2.30

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 12 of 16

Name	Position	Tran Date	Eng.	Activity	Activity Description	Contract Description	Hours
Tinsay, Elena Petrova	ANALYST	09/23/13	47268	47268-002-01	1 hour quality control on summaries	Patriot Coal/Fresh Start 2013 - Fix	. 1.00
Berryman, Jeffrey(Tyler)	ANALYST	09/24/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	1.30
Dunne, Bryan	SENIOR ASSOCIATE	09/24/13	47268	47268-001-01	3 hours internal discussions, 2 hours modeling	Patriot Coal/Fresh Start 2013	5.00
Lee, Edward	MANAGING DIRECTOR	09/24/13	47268	47268-001-01	Review of discounting analysis	Patriot Coal/Fresh Start 2013	0.50
Stull, Benjamin	VICE PRESIDENT	09/24/13	47268	47268-001-01	Patriot - Reviewing JV modelling 1.5 Patriot - Call with K Winkelmann to discuss JV questions0.5	Patriot Coal/Fresh Start 2013	2.00
Berryman, Jeffrey(Tyler)	ANALYST	09/25/13	47268	47268-001-01	Modeling	Patriot Coal/Fresh Start 2013	0.80
Dunne, Bryan	SENIOR ASSOCIATE	09/25/13	47268	47268-001-01	1 hour client call, 6 hours modeling, 1 hour internal discussions	Patriot Coal/Fresh Start 2013	8.00
Lee, Edward	MANAGING DIRECTOR	09/25/13	47268	47268-001-01	Call with Patriot to discuss status of analysis	Patriot Coal/Fresh Start 2013	1.50
Stull, Benjamin	VICE PRESIDENT	09/25/13	47268	47268-001-01	Patriot Call to discuss change in liquidation premise1 Patriot Modelling on new liquidation setup8	Patriot Coal/Fresh Start 2013	9.00
Dunne, Bryan	SENIOR ASSOCIATE	09/26/13	47268	47268-001-01	9 hours modeling, 1 hour internal discussions	Patriot Coal/Fresh Start 2013	10.00
Huang, Kayleigh	ANALYST	09/26/13	47268	47268-001-01	report	Patriot Coal/Fresh Start 2013	2.00
Lee, Edward	MANAGING DIRECTOR	09/26/13	47268	47268-001-01	Review of cash flow details by complex	Patriot Coal/Fresh Start 2013	1.50
Stull, Benjamin	VICE PRESIDENT	09/26/13	47268	47268-001-01	Patriot Discussion with Edward on Cash Flow1.75 Patriot Reviewing comments from Patriot2.5 Patriot Reviewing and brainstorming with Bryan1	Patriot Coal/Fresh Start 2013	5.30
Fisher, Jeffrey	VICE PRESIDENT	09/27/13	47268	47268-002-01	.5 hours preparation for call and 1.5 hour call with Patriot.	Patriot Coal/Fresh Start 2013 - Fix	. 2.00
Huang, Kayleigh	ANALYST	09/27/13	47268	47268-001-01	modeling	Patriot Coal/Fresh Start 2013	8.00
Stull, Benjamin	VICE PRESIDENT	09/27/13	47268	47268-001-01	Patriot spreadsheeting	Patriot Coal/Fresh Start 2013	7.00
Tinsay, Elena Petrova	ANALYST	09/27/13	47268	47268-002-01	1 hour preparation for conference call; 1.5 hour conference call with Patriot regarding liquidation analysis and review of changes.	Patriot Coal/Fresh Start 2013 - Fix	2.50
Dunne, Bryan	SENIOR ASSOCIATE	09/30/13	47268	47268-001-01	modeling	Patriot Coal/Fresh Start 2013	3.50
Fisher, Jeffrey	VICE PRESIDENT	09/30/13	47268	47268-002-01	Market research on auction values for equipment convertible to construction industry.	Patriot Coal/Fresh Start 2013 - Fix	2.00
Huang, Kayleigh	ANALYST	09/30/13	47268	47268-001-01	modeling	Patriot Coal/Fresh Start 2013	6.00
Stull, Benjamin	VICE PRESIDENT	09/30/13	47268	47268-001-01	Patriot spreadsheeting6 Patriot following up on changes from Management2	Patriot Coal/Fresh Start 2013	8.00
						Total	262.70

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 13 of 16

EXHIBIT C

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 14 of 16

Duff & Phelps LLC Expense Detail for Patriot Coal Corporation Period from September 1, 2013 through September 30, 2013

EXPENSE DETAIL LOCATED ON THE FOLLOWING PAGE(S)

September 201	3		
Category		Amount	
Business Meals	\$	14.16	
Professional Services		1,970.60	
Total	\$	1,984.76	

Case 12-51502 Doc 4848 Filed 10/21/13 Entered 10/21/13 17:59:40 Main Document Pg 15 of 16

Duff & Phelps LLC Expense Detail for Patriot Coal Corporation Period from September 1, 2013 through September 30, 2013

September	2013		
Category	Amoun	Amount	
Business Meals	\$ 14	.16	
Professional Services	1,970	.60	
Total	<u>\$ 1,984</u>	.76	

Meals Detail

Professional	Date	Description	Amount	
Professional	09/25/13	Working Dinner - One Professional	\$	14.16
			\$	14.16

Professional Services [Hours Detail and Invoice(s) Attached]

Professional	Date	Description	1	Amount
Miller, Erica	9/1/13 - 9/30/13	Processing of Retention / Fee Application	\$	1,970.60
			\$	1,970.60

Duff & Phelps LLC

Summary of Patriot Coal Corporation, <u>et al</u>. hours for <u>Erica Jones Miller</u> Period from September 1, 2013 through September 30, 2013 Professional Services Performed for Duff & Phelps LLC

Date	Description	<u>Hours</u>	Rate/Hour	Billed Amount
4-Sep-13	Reviewed case docket.	0.30	\$118.00	\$35.40
6-Sep-13	Reviewed case docket and WIP.	0.50	118.00	59.00
10-Sep-13	Reviewed WIP. Reviewed retention docs and order. Emails re: monthly statements.	1.00	118.00	118.00
11-Sep-13	Reviewed local rules. Worked on July-Aug monthly statement.	1.00	118.00	118.00
12-Sep-13	Worked on July-Aug. Emails re: same.	1.00	118.00	118.00
13-Sep-13	Worked on July-Aug.	1.00	118.00	118.00
16-Sep-13	Worked on statement. Emails with team re: same.	0.70	118.00	82.60
17-Sep-13	Worked on statement. Emails re: team.	1.50	118.00	177.00
18-Sep-13	Worked on statement. Emails re: same.	1.40	118.00	165.20
19-Sep-13	Worked on monthly statement.	1.30	118.00	153.40
20-Sep-13	Completed and sent monthly statement. Reviewed case docket.	1.50	118.00	177.00
23-Sep-13	Reviewed docket. Distributed filing.	0.50	118.00	59.00
26-Sep-13	Emails re: supplemental app/dec. Conflict check on new parties.	1.50	118.00	177.00
27-Sep-13	Reviewed case docket. Worked on supplemental app/dec.	1.50	118.00	177.00
30-Sep-13	Worked on supplemental app/declaration. Emails re: same. Reviewed case docket.	2.00	118.00	236.00
	Total September Hours	16.70	· ·	\$ 1,970.60